



BIDS AND AWARDS COMMITTEE (BAC) FOR GOODS

BIDDING FOR THE PROCUREMENT OF BCDA IT EQUIPMENT AND SOFTWARE 2020

RESOLUTION OF AWARD (RESO NO. BG 2020-013)

WHEREAS, the BASES CONVERSION AND DEVELOPMENT AUTHORITY (BCDA) has bid out the Procurement of BCDA IT Equipment and Software 2020 with the following Approved Budgets for the Contracts (ABC), inclusive of all applicable taxes and fees:

Lot	Description	Qty	Unit Cost	Total*
A	1. Desktop	4	80,000	320,000
	2. Notebook 13	16	80,000	1,280,000
	3. Notebook 15	7	80,000	560,000
	4. Notebook High End	1	155,000	155,000
	5. PC Workstation Laptop	3	100,000	300,000
	Sub-total			2,615,000
В	1. AutoCAD (Additional)	3	100,000	300,000
	2. AutoCAD Civil 3D (Additional)	1	135,000	135,000
	3. AutoCAD LT (Additional)	1	25,000	25,000
	4. 3D Modelling and Rendering Software	3	95,000	285,000
	5. Video Editing Software for Mac	1	17,000	17,000
	6. Adobe Acrobat Pro (Addt'l)	2	12,000	24,000
	7. Adobe Acrobat Standard (Addt'l)	8	11,000	88,000
	8. Sketchup Pro (Additional)	1	20,000	20,000
	Sub-total			894,000
С	Network Infrastructure Enhancement for BCDA Clark-PMO	1	3,500,000	3,500,000
D	Access Points	2	80,000	160,000
Е	1. High Speed Scanner	2	80,000	160,000

P.O. Box 42, Taguig Post Office Taguig City, Philippines







	2. Heavy Duty Scanner	1	150,000	150,000
	Sub-total			310,000
F	Precision_Air Conditioning Unit (PACU) and Fire Suppression System Project (FSS)	1	7,350,000	7,350,000
	Total	Php		14,829,000

WHEREAS, the BAC for Goods, through its Secretariat, advertised the Invitation to Bid on 18 September 2020 in the following:

- 1. DBM Philippine Government Electronic Procurement System (PhilGEPS);
- 2. BCDA Website; and
- 3. Conspicuous place reserved for the purpose in the premises of BCDA.

WHEREAS, in response to said advertisements, the following four (4) companies submitted their bids for the following specific lot/s:

Name of the Company	Lot No.
CIM Technologies, Inc.	Lot B
Pronet Systems Integrated Network Solution, Inc.	Lot C, Lot D
American Technologies, Inc.	Lot E
EGM Global System Technologies, Inc. Joint Venture with Power Craft Solutions and Data Infrastructure, Inc.	Lot F

WHEREAS, there were no bids received for Lot A.

WHEREAS, during the Opening of Bids on 09 October 2020, the BAC for Goods received and opened proposals from the above-mentioned bidders. During this activity, the eligibility documents submitted by the bidders have initially passed eligibility requirements for Lot B, Lot C, Lot E and Lot F of the BCDA IT Equipment and Software 2020, except for Lot D. All bidders, except the bidder for Lot D, were found eligible, thus, their financial proposals were opened.

WHEREAS, after the preliminary evaluation of the submitted bids, the BAC for Goods had the following observation:

1. **CIM Technologies, Inc.** passed the eligibility requirements and technical proposal, and submitted a financial proposal of **Php701,200.00**, inclusive of all applicable taxes and fees for **Lot B**, which is below the ABC. **CIM Technologies, Inc.** was declared the Single Calculated Bid for **Lot B**.













2. Pronet Systems Integrated Network Solution, Inc. passed the eligibility requirements and technical proposal, and submitted a financial proposal of Php3,312,773.00, inclusive of all applicable taxes and fees for Lot C, which is below the ABC. Pronet Systems Integrated Network Solution, Inc. was declared the Single Calculated Bid for Lot C.

Further, Pronet Systems Integrated Network Solution, Inc. submitted a bid proposal for Lot D. However, it did not pass the eligibility requirements and technical proposal. Therefore, it was declared ineligible for the post-qualification, per Section 35.1 (b) of the RIRR of RA 9184.

- 3. American Technologies, Inc. passed the eligibility requirements and technical proposal, and submitted a financial proposal of Php 221,312.00, inclusive of all applicable taxes and fees for Lot E, which is below the ABC. American Technologies, **Inc.** was declared the Single Calculated Bid for **Lot** E.
- 4. EGM Global System Technologies, Inc. Joint Venture with Power Craft Solutions and Data Infrastructure, Inc. passed the eligibility requirements and technical proposal, and submitted a financial proposal of Php7,328,669.00, inclusive of all applicable taxes and fees for Lot F, which is below the ABC. EGM Global System Technologies, Inc. Joint Venture with Power Craft Solutions and Data Infrastructure, Inc. was declared the Single Calculated Bid for Lot F.

The Abstract of Bids is hereby attached as "Annex "A".

WHEREAS, in view of the foregoing and consistent with Section 34 of Rule X – Post-Qualification of the Revised Implementing Rules and Regulations of Republic Act No. 9184, the BAC-G Technical Working Group (TWG) conducted Post-Qualification on 21-26 October 2020 to determine if these companies: 1) CIM Technologies, Inc.; 2) Pronet Systems Integrated Network Solution, Inc.; 3) American Technologies, Inc.; and 4) EGM Global System Technologies, Inc. Joint Venture with Power Craft Solutions and Data **Infrastructure**, **Inc.**, are compliant with, and are responsive to the requirements and conditions specified in the Bidding Documents.

WHEREAS, upon post-qualification conducted by the BAC-G TWG and after careful examination, validation, and verification of all the eligibility, technical and financial documents submitted by CIM Technologies, Inc.; Pronet Systems Integrated Network Solution, Inc.; American Technologies, Inc.; and EGM Global System Technologies, Inc. Joint Venture with Power Craft Solutions and Data Infrastructure, Inc., their respective bids have been found Complying and Responsive. The Post-Qualification Report is hereby attached as Annex "B".

NOW, THEREFORE, We, the Members of the Bids and Awards Committee for Goods, hereby **RESOLVE** as it is hereby **RESOLVED** to recommend the following:

1. To declare **CIM Technologies**, **Inc.** as the Single Calculated and Responsive Bidder for the Procurement of Lot B of the BCDA IT Equipment and Software 2020 and to

P.O. Box 42, Taguig Post Office









award the contract to CIM Technologies, Inc. in the amount of Seven Hundred One Thousand Two Hundred Pesos and 00/100 (Php701,200.00), inclusive of all applicable taxes and fees;

- 2. To declare Pronet Systems Integrated Network Solution, Inc. as the Single Calculated and Responsive Bidder for the Procurement of Lot C of the BCDA IT Equipment and Software 2020 and to award the contract to Pronet Systems Integrated Network Solution, Inc. in the amount of Three Million Three Hundred Twelve Thousand Seven Hundred Seventy Three Pesos and 00/100 (Php3,312,773.00), inclusive of all applicable taxes and fees;
- 3. To declare American Technologies, Inc. as the bidder with the Single Calculated and Responsive Bid for the Procurement of Lot E of the BCDA IT Equipment and Software 2020 and to award the contract to American Technologies, Inc. in the amount of Two Hundred Twenty One Thousand Three Hundred Twelve Pesos and 00/100 (Php 221,312.00), inclusive of all applicable taxes and fees;
- 4. To declare the EGM Global System Technologies, Inc. Joint Venture with Power Craft Solutions and Data Infrastructure, Inc. as the Single Calculated and Responsive Bidder for the Procurement of Lot F of the BCDA IT Equipment and Software 2020 and to award the contract to the EGM Global System Technologies, Inc. Joint Venture with Power Craft Solutions and Data Infrastructure, Inc. in the amount of Seven Million Three Hundred Twenty Eight Thousand Six Hundred Sixty Nine Pesos and 00/100 (Php7,328,669.00), inclusive of all applicable taxes and fees;
- 5. To issue the Notices of Award to 1) CIM Technologies, Inc; 2) Pronet Systems Integrated Network Solution, Inc.; 3) American Technologies, Inc.; and the 4) EGM Global System Technologies, Inc. Joint Venture with Power Craft Solutions and Data Infrastructure, Inc.; (copy attached);
- 6. To direct the End-user unit to furnish the BAC-G copies of the duly conformed **Notices** of Award, Notices to Proceed and the duly executed agreements/contracts;
- 7. To recommend to the End-User to conduct a mandatory review and evaluation of the terms, conditions, and specifications in the Bidding Documents, including its cost estimates and delivery schedule of Lot A and Lot D of the BCDA IT Equipment and Software 2020, pursuant to Section 35.2 of the Revised IRR of RA 9184; and
- 8. To proceed with the re-bidding of the Procurement of Lot A and Lot D of the BCDA IT Equipment and Software 2020, pursuant to Section 35.3 of the Revised IRR of RA 9184.

RESOLVED, at the BCDA Corporate Center Office, this 3rd day of November 2020.





9.







BIDS AND AWARDS COMMITTEE (BAC) FOR GOODS

BGEN CARLOS F QUITA (RET)

Chairperson

MARIA/SOLEDAD C. SAN PABLO

Vice Chairperson

SAMUEL JOHN D. VIDALLON

Member

JOSE ANGELO V. CUNANAN

Member (Resigned)

EDILBERTO R. REBATO, JR.

Member

Approved By:

AILEEN ANUNCIACION R. ZOSA

Executive Vice President and Chief Operations Officer
BAC for Goods

BCDV.

BACG2020-0087

